
 
In emissions terms, what does GHG 

stand for? 
 

 
Answer 

 

 
a. Green Health Guild 
b. Greater Harm Germs 
c. Greenhouse Gas 

 

 
 

c. Greenhouse Gas 

 
What does CO2 e stand for? 

 

 
Answer 

 
a. Carbon Monoxide equivalent 
b. Carbon Dioxide equivalent 
c. Carbon Trioxide equivalent 

 

 
b. Carbon Dioxide equivalent. There 

are a variety of Greenhouse gases, so 
we measure them compared to 

Carbon Dioxide. 
 



 
What do we mean by a Critical 

Mineral? 

 
Answer 

 
 

 
a. A mineral on life support 
b. A mineral in dwindling supply 
c. A mineral that explodes without 

warning 

 
 
b. A mineral in dwindling supply 

 
True or False – we can make mobile 
phones without using any Critical 

Minerals 

 
Answer 

 
 

 
True 
Or 

False 

 
False. Mobile phones use various 
Critical Minerals such as 
Lithium, Tungsten and Cobalt 
 



 
True or False – in 2022 we produced 
62 million tonnes of e-waste globally 

 
Answer 

 
 

 
True 
Or 

False 
 

 
True. That’s roughly the weight of 

2,500 Statues of Liberty! 

 


